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INSTRUCTION FOR STUDENTS
Please read the following instrucfidn'caréf_ﬁlly,.' and then answer the question on
OMR answer sheet. : 0

i T:_:'his pa’pe-r contains PART-1 (Mental Ability Test) questions.

1 | MENTALABILITY TEST (MAT) | 1To 100 | 90 Minutes | 100 |

2. _This section will be 90 minutes.
G -Aii".questions are -com'p:'_t,i!__s"o'ry.

4. The blank pages are given in this question booklet for rough work.
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PART-1: MENTAL ABlLiT\‘ TEST (MAT)

'lnstructlon In each of the following question no.1 to 10 L number series is glven with m:ssing of one
term. Choose the correct alternatwe that will continue the same pattern and replace the question mark

(?) in the given series. : Tl

e

34 2%
. 2 5*9%17

» B4 (E) B © 2 (@) 33

g e &

2 2712 17. P R

(A) 18 . g_a_g 22 c) 19 (D) 23 2 |

’ 11 ORI R TERGT SE _ Tt o

{«L ey @ 1M1 - (O W4t (D) 14481

656, 432, 320 264,236, 7
h:s:lfvr

: '(A) 229 g (B) 232 (c) 222 & (D) 223

5 3 19 97, 391 ? 2359
—%

b ) 177 (8) 1084 ©) 1711 (0 1958 |35
B i o SRS = : ; 53
R By R ki e o o B BRL ¢

e - ; N

w13 (B) 28 ) e (D) 238

"f1513101§15179 v

© 19,21 0 (©) 18,20 |

Tyt TRt : rm, _ I?
-‘L-l’ rz,z J |
] st
Il

© 12167 (o) 15625

©) 121,108 - (0) 114,103

© 16

- ;-_ENGUSH) 102 Page?,of i6 . [CONTINUE]



Instructmn In question no. 11 to 20, ﬂgures are gwen with questlon mark [?) Complete

the figure replacing question mark (?) with surtable number Ioglcally

11 | How many line segments are there-l_n the given figure ?

1w 2 (B) 13 -'(c)" i (D) 15

12 | How many line segments are there in the given figure ?

fio :@'-_-_‘19 (B) ~48.-. & ey 17 () 16

13 | How many triangles are there in the given figure ?

o @ 2 8.2 (© W0

14 | '_How'-many triangles ar,e\there_' in the given .ﬁguré_f?

':_(;_u 28 (8) 24 ©) 14 (D) 10

15 How many trzangles are there in the gwen ﬂgure P

| ae ® B © 19 (D) none of these

16 | How many squares are there in the given figure 7 |

Tl 16 U

17 '!31_! How mahy squares are there in the gwen figure '? . . S T

AU @ n (C)-24 () 26

. Answer. quesﬂnn no. 18 to 20 on the basis of gwen ﬁgure

18 How' many lme segments are there in the gwen ﬁgure ?
| AL 35 . E (€) 36
: -__19_--‘_._How many tnangles aré"'thare in the given fgure'? i
SRy B e ' (Ql 22 (D), 24
. Fag: ; How many squares are there in the given figure 7 7
Sxe (Al 5 L e g g (D) 8
~ (ENGLISH) 1102  Page4of16 -~ [CONTINUE]
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. "'-"Instructlon- In question no.21 to 30, English alphabets are gwen d|g|ta1 number/code Usmg
?'them, find the correct digital number/code for given Eng‘hsh wurd by choosmg the correct option

_gwen helow
2\

21 B._F.J,p.R,v,z,D,H,L,?

(A) M - ® 0

o % . T

22 ABC{S EFG JKL !’-’Q'?

(A) R i (B) s

© T ©) U

23 fDD I, PF’ vy, B?

: (C) Gl e . (D) ce

7.-;=_«'24" _.-AHL 2 ,CFJ, DEI
BGK

: | .

(B) BKG

(C) GKB (0) GBK

25 [R, A M,E
5 |H \I-

(A Zi ¢ _ﬁ-llz(é); - g

e o anw

.26 |A, G, F,4,0,72B
{ 1234 _-
(A) 1 o R S

Vo e

G @

& 9.t 451027

@ R @ 2
e - 30 5

© 2. Be @&

30 Uik Sh oy

~(B) BUPL

e

: ..-B_TUPLUBTU f’ LUBT_LL_PJ.;_UBTUP 2,

© LBPU © | Pé-u!_

3511, EV14, 70 Y
. @ erz\ .

© ov17 (D) cvis

30 ABC 6 EFG’z_w K,

Qu h

(A) 1000 s -(B).190

' Fa'gé-'s-_;qﬁs '




32

o]

©)

33

23

cy >

(C)

(B)

ey

36

©)

37

S
S

A

A 1=
V%“

39

8 -

. (o

@

(ENGLISH)1102
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'i'h:i't:}hction In question no.41 to 50, English alphabets are given digital number/code. Using

-,-them
given

find the correct digital number/code for given Engllsh word by choosmg the correct optlon ;

‘below.

|(A),

If CAT is wntten ATC in s;gn Ianguage DEAR is wrltten EARD in sign Ianguage :

Then, How szgn will be written in sign Ianguage

Ly

17 e) Nes

H

LNGS (c) SNGI (D)' “SGIN

If ' no more food ' is written ' ta. ka da ' in sign Iangauge and ''more then that' is

| wri'tt'e'ri "sapaka'then whét'wﬁl be written for " that ' in the sign..

.(A) sa (B) ka (C) saand pa

_L_)_ incomplete | mforrrmtlon :

| a3

f LAP is written KMZBOQ in: 5|gn Ianguage then what will be written for NOTE ?

MmonNFPeLT

(A) MONPSUFD (8) MONPUSDF _(c) MNOPSUDE /DJ MONPSUDF

E= 5 and EMPIRE 66 ﬁ'len what will .be wnttEn for REPAIR '? i

z’.

(A) 66 (Clad2: (D) 13 "t

._)_67

45

: .(A) 113

If SSC is wntten 191 93 in S|gn Ianguage then whai wull be wntten for BBC 4
(B) 221 (C) 223 (D) 213

If CHARACTER is wntten 241612376 and CHILDREN is written 24859670 in sign

{angauge then what will be written for HIRALAL ? ‘L' Cf L\515

(A) 4861551 (B) 4861515 (c) 4865151 (D) -463-1515

(A) HIPLM

IFAPPLE is wntten ETI'PI |n S|gn Ianguage then what wﬂl be wntten for DELHI 7 27

(B) ZAHDE (c) HPILM (D) CQMND

.DOCUM ETNS is wntten VDPENRSMD then what WI|| be wntten for ADVE RTISE'?
"“FWEBDSRHS (B) FWEBSDRHS (C) FWBESRDHS (D) FWEBSFMLD

(c) i (D) 20

If MEAN IS wrltten $57* DOME is wrltten 93$5 then what will be wntten for MOAN?
ot (a) ?_i_“sva* s _gg)_. $37* ROR $*3¥

(ENGLISH
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Instruction: Four option are given in question no.51 to 60. One of the option‘is dtffers from the

rest Ftnd out that d|fferent optton

(B) Sllver

| '51 (A} lrcm (C) 'Gold :

(D) Brass

COUQR (B) milk.: o (i) granes .

i (‘@ -1 L i Biiia - wine

(D)’ bamboo: paper

53 | (A) 6023 (B) 7202 A 4025 -

(D) 5061

e s (A) Wiiter () Publisher  (C) Post

(D) Novelist

55 | (A) Violin-  (8) Star Q) Flute:

(D) -Veena

56 (__&2 Conclusion  (B) Research  (C) Analysis

(D) anestlgatlo

|57 | (A) Pathology

(A (B) Biology: (© .Cardiology
Al S - et e

(@) -Rad.iolo'gy

@B (A) Sports:Coach ..'(‘B') Drerqe:Director (C). Advice:Adviser

(D) Student Teacher :

(510 Fesle ) Nyon Q) Sk

(D) Poiylhen'e'

@ '(A'.):'B'ar;ékok (E}.\,,deal : {C) Rangoon

(D) Kabul

- 'Instructaon Fmd out the correct m:rror :mage in questlon no 61 to 65.

e - )

~q :

(D)

o .

e W

T

_X
e

[ea b I
A hsete oo )

o R R )

%

—p

e

(D)

| (ENGLISH) /102 PageBof16
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7"}‘: A - % _-::_ 121

75 (T)Golden Jubtiee“"

(ENGLISH) 7102

1 o . ® i

Instruction: Find out the correct co-relation in question no.66 to 70.

| 66 India : Ashok Chakra, France : ?
(4) Eaglé (8) Lily - (©) Rose (D)

Lotus

57 London Thames Delh|

(A) Yamuna (8) Godavan © Krishna . (D)

Kaveri

% India : CBI Paklstan P ' .
1Y [ wor (B IS’ © cesE 6

-none

.59....

&)

of e e

w |8 i = (©] % (D)

A L

m\\ o
ENR

@ |

"nstruction Accordlng to the questlon, choose the correct optlon logrcal[y
no.71to 75 : :

in questlon

o 71 (1) Index (2) Contents (3) Title @ Chapters (5) Introductlon
bl 23451 ® 35241 2 6) 51423 (D) 32514

) Embryo (2) Chlld (3) Baby (4) Mlddle Aged: (5) Young

S e

3,452 (B) 13524 (c) 13254 (D) 13,425

73

(2) Populatlon (3) Death (4) Unemployment (5) Disease _
@ .2 23 (B) 12345  (0) 23851 (D) 24513

74 | (1) Acmdent (2) Judge (3) Doctor (4) Lawyer (5) Police
. ra

L’ :
(A) 13425 s (B) 13542 © 1234.5- L@ 12543

' (5) Centenary'Ce ebratlcms S g

:'nlversary (4) D|amond Jubliee

(A) 24345 " 8 23451 © 31245 (D) 32145

[CONTINUE] ",




Instruction: Follow the instruction _antl choose the correct option in question no.76 to 80 .

76

—
T

If X means +, = means x, + rneans_.- and — m'ea_ns""-"': then 24 + 36 712:8;(— 4 =7

]

() 35 = (e) c) 5 (D) ~2046e

*

gy 77

If -means+ —meansx Xmeans—and+means—-then 15—8x6-—12+4h‘?
i " X ,_,_ +
8- 2—

28
- 25 ((5)8

w- 20 @ g (c') 2

78

1 @ ;1';;

If —means+ — means X, +means—-andxmeans—then 14 — 4x7 12 + 8 ?
- p TS o

0 8

® 20 gy ek

(s

If + means X,+ means =, — means + and X means - then 20_-1—_16 + 4%x3=2=?

-
(D) 24 ¢

—_—
p o

(A) 16 (B) 30 Q 1

80

@

[15B3C24A12D2 = 2.

X e
28
24

IfA rneans —:B means = C means +, D means X then

3 @ @ Yl

J lnstructron Follow the mstructlon and choose the correct answer from the optlon

(que.

no.81 to 100 )

(]

Imonth? * et

. J 20

If third Frlday is on 16th ofa month then what will be the date offourth Tuesday of same

27

(a) 2 ‘ '_ccj © 2

Today is Monday Whlch w:ll be the day aﬁer)‘65 days 2

,_,l Wednesday () Fnday (C) Saturday (D) Sunday

i3 (A)

1st January, 2000 was Saturday lhen which day wrll be there on 1st January, 2001
N (D)

(B) Tuesday -+ 6) Fnday 3 Saturday.

¥

4 Whlch mll be the Leap Year 7

2800 1800 (0) 300 -

(&), (8) © 200"

. ; () Sistel‘

'R is sister of M and M is.brother of H. D is mother ofK and K is brother of M then what

f;:sem 43“ H%" D
(D)

lS the relation between R and D?

il ( ) Daughter ey Mother Incomplete |nformatron

36 i

K is brother of T M is. mqther of K, Wis brother of M then_what is the reIatron between |
[ Wand T2 S W ; 1

“Grand Father

PaternaIUncIe (D) None,of these

(cj_ '

j (ﬁ) Maternal Uncle (B

),
hy e
@k i
' ‘Pagedp

B R ; ; i 1L i

: [CONT«H’“I Ve,
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87

st

‘Mohan pointing his finger to a photo, 'ahdf‘sai'd".thia_tg'ﬁ'_gfr_he___enlir't":hit'd of his mother is the
.erﬂy son of my father." Then whose photo is Mohan pointing ? ' '

| (A) Brother Ll. Himself (C) Paternal Cousm (D) Maternal Cousin

488 /What WI" be my relataons wrth the daughter of my paternal aunt's father's sen 2

89

N Niece
,(A-) Patemal aunt (B) Sister . ©) fece S e |ec i '
; (Brother’ Daughter) (Sister's Daughter)
X and Y are brothers. R’is father of Y.Si is. bro r of T.and maternal uncle of X. Then :
what is the retatlon of TandR ?. / \/7 o O | \
Eﬂ_) Wife : (B) Mother .. (fﬁ Sister - (D) Brother

' f@

A clock i 15 kept in a way that at 12 o'clock its minute hand is in north east dlrectlon Then

| what will be the direction of hour hand at 1.30 ?

A North (B) South (C) East (D) West
91 | If south east is north and north east is west and goes ahead in same direction then what
. (| will be the direction of west ? : i T
@ 'seuth' west  (B) north east SQ).- -'mih' east éD) north west
92 | A train runs 120 km in the west then :t runs 30 km in the south apd 80 km in the east |

again before reachlng the station, in which dlrectuon the station will be from the starting

point of the train % : .
10 ! EOvRe
(A)  south east (8) no;th west %0 (C) south (,_J_ south west

Ram stands out towards the north. He walks drrectly (straight) 10 k. Then he turns left
and walks 15 km and then turns left and walks 10km. Then how faris he from the startlng
point ? 1 10 '

_(A) 10km . (B) 5Kkm © .12km @ 15km

| and walks 1 km. At Iast he tums i

A man walks 3 km nodh from his’ house Then turns Ieft and watks 2 km Then turns rrght

- and walks: 5 km How far is he from his house 7 -

© 4km : (D) 5 km

east. Howfarts he from his starhng pomt‘? B .
@ skm o ® 12km © 15km (D) 10 km

Proportion ratio of the age of A&Bis 3: 2 today. After 5 years lt w1|l be 8:7. What is

RS 5* TS
210 yeari . . (D) nene of these |-

thesum theageefboth‘? ;LR

oday Preportlon ratio Wlll be 4.: 5 after 5 years

| What is the age dffference bet\tveen;them now ? e 4=35 l-'ﬂi = ‘

(ENGLISH)/f02 . Page 11 of 16
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'-'(A)' v SRANRE O 220 © 320 (D) 20 .
1100 | 1f16 persons shake hands lnaparty then whatwm be the fotal number of shaking hands
| be comblned'? s
% (A) 120 _(g)) 256 ‘ ; (c) 110 - (D) 100
. vs :
, g 8 ‘é X
LA
a4 ¥ | .
NG
: m & :

98

Father's age is 8years plus ofthrice son 'sage. Mother's age is 3 years more than father's

‘age. If son's age is 7 years then what i |s the age of mother ? X\
1 (A) - 26year .- (B) 29 year ©) 32 year (D) 35year

@

' There are 3 red 5 yellow and 4 green ballsin a box If 3-balls are randomly taken from
the box. Then what is the probablllty of taken balls a8




Total Marks
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90 Minutes_
2. This section will be 90 minutes.
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" PART-2 ; SCHOLASTIC APTITUDE TEST (SAT)

o aup . ERUE (€) AUB colly, o A

2 | The supplementary angle of the oomplementary angle of angle having measure 23 has

sasure._.

A 67 (B) 90 . \/113 ('D}'ié' %

[The wldth ofthe class 55 5o 60. 5:5

o 4-'_: Tﬂlﬂ\me alhtudes of. AABC lf AD‘%;&cm BC = 16 cm, BE 8cm then : -
| _(.aof (B) _'18 _ (C) 24 = () 10

|
X
5 yeﬂctorof the polynomial x? + 49: 7 3x 18 is x + 3, then the other’ factor AT

e (B)x Fx+6

R 6 N E) a6

If G e D of two numbers is B and 1he|r product is 384, then thearLCM B
s ) jo. e (C) R

| The sum of the zeros of 3x2 4 Sx -2is o

3

W] Ul

- (B.)';...:.--eg-f- '-fi(_.t.:_)_

. e 3 § -_;}fi_"":_'_a'.-t'wo 'dié;’itf.‘_ﬁumber,-t__he digit- at""(‘mit. place is y and the digif at tens place is 7, then the

‘/ (A) W7 (B) y+7 - a.LG)‘/y: 70 () 10y+7

9 If the correspondenoe ABC HEFD isa smiarlty in AABC and ADEF then _ ~ of the

Wtrua

L BE AL
A)
DF DE

(D) b _-E—-PT

'(p,)-' B

ofa square is 5\/_ The Iength of the sude of the. square e

[CON“I'INUE]
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Leeell

Y38 W3s W

[0,

12 | The foot of the perpendlcular fr m P(-3 2) to lhe Y - axis is M. co-ordmates of M are

LAB o) © @.—1) © 33y ||

(13 wﬁ“-éis.—' G g
Lm0 Ll T g © 9 -

e AABC, smzA +ssz + szﬁ' B

£ STt © -t

chord of@(O 5]touches@(0 3).. Therefore .the'length of the chord =
A {B) 10 /yf) 7 D) 6

‘aN J8peeg D

A card is se!ected at random fromWel[ shufﬂed pack of 52 cards. The probablllty thai the
' ,ee‘le/ct;l_c;rd is notan ace'ls - : :
/

o _ : g e
(A 13 g (B)-.._.--—- i (C) e (D) '_

Two baJanced droe are thrown once The prabablhty of getting sym of numbers is dwlsable

B g n g L O

are the zeros ofa polynomia! p(x) then _is not the factor of the p(xjf

(B) X — \1‘ (C) X~ —3 «113)'/;:243 _ ;'

: i (/’
B nE e
: (B) -'-_4';:-_1-9y—5"= 0 S é

A
WD

P8

AE4 9y —30=0 ' Sd

L e rep =sa m‘*“

| (B) _A non-recurring decimal

(D) AnInteger -

o 0

' (A) Fulferene i bl

ANE Bucky ball ofBom a}gms :

i

(ENG SI§;I) )P-2/1o4

&  [CONTINUE]




3
it |
B

l ) 3x108 5"‘

Whét‘ is-s‘peé& of lightin glass ?

. ‘fﬁﬁ? x 10° ms

(B) 225 x 10° ms”

D) | 1.75x 108 ms

1;-2 sméi'1

(C) nlsmel = nzsmﬁ'z

| Which "SQUation*-not re‘preséﬁt Snell's law 2

n, sinb,

Lilie S

ng. ~sinb,

Msin&z = nzsinﬂl;

Natlonal smence day celebrates on

'_'28 ; (B) JanuaryZB

; (C)  April 28,

. Mébruary 28 |

.__(A) Myopia

. Wlly or oompleteiy ThIS type of srtuatlon |s called

o Wétaract

: ._.__.__(C) Hypermetropia :

tu '_ i When amilky and cloudy 1ayer is formed on t,_ _"{_:eye lens of pld age person they Iose thetr

(D) Presbyop’ia'_

_(!_3')':

(c) 00

Determlne the equwalent resistance between pomts x and y in the followmg c&rcunt

(@) 69

: ,chh is not correci "",'e___. .

i (A) Acid + Base o Salt + Water

(.B)" Acid+ Meta] oxide — Salt + Water

_n-MetaI ax:dei—Water - Base (El) BaSe + Metal — Sait o Hydrogen + Water

(C) Nitnc acld

Which is weak aGd?

g \M Oxahcacm

(B) Hydrochlono acad“

L (D) Salphurlc acid -

o / (A) MgNOa

oo 32 /pat is chemlcal formula of mltk of'magnesm 5T

(B) MgSO.‘

L5

{C)y -Z-Mg(OH)a

M(Oi‘-‘l)z

/ (A) 20ent1meter

(B) 2 meter :

133 ' How many Iong wire can be drawn from a gram of gold ?

#ometer

(D) 1200 meter

..,,.

Page
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=87

a8 W
LS6EYL
‘oN 18pieeg’D

Which alloy is used to preparation of statues 2

| (. "Mt’;ze . (B’)' Braés gari = se) Steal

(D) Duralumin =

N85 W is not a step of metallurgy 7

i (A) Reductlon

: (B) Roa_stmg "-’Mrrosion _(D). _COhC'em:r?ﬁOn of ore

361 respire through Iungs

(A} crabs Inzard

(C) sepia

' -"_'Anaerubac'resplratlon takes place only m

(D) prawns

s

._(A) MltochOndna (B) Glands

(C) Lungs o Mﬁoplasrﬁ :

3 The small mtestme receives the secrellon from

(A) Sal:vary glands

o (C) lee and Salwary glads

-(A)_' Fishes Amphlblans

j Amphlblans Rep’ules
Wi (Cj Mammals Reptlles Ehrds Mam?nals

42 It is found as four small glands

(A- -'»Parathymld gland

Th}!g?o_ia"é_iand T

+ Adrenal g!and,




Wh'icﬁ 'ﬁf :ihfé"f’(;illlbwin'g groups hév’e‘_.jéﬁl_yf;r’iﬁrg‘_‘-ﬁipjdggradable-compon'gﬁt_s_-? Ve
1. Qddd. :'p'ape:,', leather
2. polythene, -_deterg‘ent,j;pvdﬁ .
3. plastic, detergent, glass
4. plastlc. glass,ammaldug i et e : R
i ' ' "'(D).,.- 1and3

| @ tands _'-(')f-"'eniys

ocelerates umformly from 18 kmfh to 36 kmfh in 5 sec. Caiculate the: aeeelaratmn;' :

""_(A)- 1ms2 | ® 36ms? ' {C) - 2ms? (D) 2.6ms?

47 3 What isthe Sl unit of momentum 7

1@ o ms' @) g gms’ '«:_-':-';:'-l_'_-_(__Ei)i{---kg.:ms-z-

What is‘mass. of the moon 9

' (A) 6x102"'kg ' ,'_(B ~7Ax10%2Kg (€) 8x102kg D) 74x1024 kg

T Ty

9 boy of mass 50 kg uns: up'a stalrcase of 45 steps m 9 sec. If the' height of each sfeps

Fmd hlS poWer. ( Take g =10 rﬂS‘2 ) _
7\ 275w (B) 350 W' (C) W P Ew

When we go fmm sohd to gaseous state the speed of saund e R

_"-5-*-(_B) mcreases or decreases

(C' decreases Tk ““éonstant 7 A SR

SR

n be accommodated in the outermost |

W_Hat-_is- théj_f__ aklmum umber o_f elééi:rb'ns. thﬂt :

rbit ?

@ 10k

(D) Thomson .

-




- .
: '56 i as alsdknewn asthe sulmde bags ofa cell S T
) (A) Mitochandna ; 7 Wsomes :
"(C-) Pla_stlds - W i Sk (D)  Golgi Apparatus

57 ~isnotan eiﬁmpie of simple Tissues.

(A). Parenchyrda : (B) CoIIenohyma (C) Sclerenchyma / (Vﬁl&e_m_

s S8, G SE; ' Whlch is example of the bryophyie R B :
2 o H ' bt .; (A ) splmgyra : (B)- u!othrlx- ._ (C)' u'lvé (Dj'/'mfré’lzmia"h_
%f_:% % £t : 59 ._-._is notanexampfe ofEchlnodennata RS :
ug’— 5 E ; ! (A) Octopus : (B) Sea st (C) Y E{_ihirjus oo Won
60 Which Ié an Bxampleufchronlc d[seases’? e R J ﬁ B
| iA) Common cold (BWma (©) Flu L@ Frismeriat
5 61 th} dlscovered the ! Cape of Good Hope"? _ .
""%—{-%mﬁoo-da-Gama e V(Br)/ Bartholomew Diaz - |
| Columbu: e . (D) Prince Henry 4 | T‘.’_
6 Who becom the ﬁrst Governer Ge__ r.'al oflndaa’? . = b

o (B) Wellesley

i ._(D} Sir John Shore

ris " Peat_:e Process " ?

:.J.'(_IB) Baaﬁndrakumar Ghosh

\ (D) Mahatma Gandhi

'ustnes in Ahmedabad went on peaceful stnke

Wétan
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Who was appointed as The chairman of state reorganisation commission by Jawahartal

Nehru'in 1953 ?

(A) Mr-»--Hridayﬁéth’Kuﬁiru S IMr K. M. Panikkar '

S Mce Fazal Al

)/ Dr. Sarvapalli Radhaknshnan

+ ‘Which word was ms_ rtedi'm _the' constltutlon by 42"" Amendment 1976 '-‘ ;

~ '_l-'_}_!() : Soc&al

(A) Mahatma Gandhl .

= Dr B. K Ambedkar
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78 | Gujarati Poetry k!’!_QWH_'§§_-Ga[‘pa'_f.a_[l_d;::gg[p'i"_'.;_tre chiefly associated with- which types of |

(A) RamBhakti _ (B) Hanuman Bhaki

(C) Meera Bhakli e _'_...:._\/m/kﬁshha Bhaki

79 | Dholka is a place between whlch two rwers ‘?

(A) Narmada and Tapi

Narmada and ; o (B) Sabarmati and Narmada : N
_ogavo_and Sabammati . - 9/ Sabarmati and Mahi - e bl

(C) Pillar o O _éﬁll :

B"I' . In whlch language the eari:er Buddhlst Ilterature was wntten ?

e M' gl Sansknt __(q) Magadhl , (/ua( Pali '-

- [82|Then

-"r.)J“%'"a“ DynasYy o o e (B) Viiéy_N.agér-.Dxnasw

uler of vallabhl betonged to whlch Dynasty ?

(C) Mughal Dynasty e 2D) Vansh Dynasty

¥

Who haswnﬂe -_the book Bu Gamt"? : T S

Shankaracharya

=3 ha'skérachéfya

L J
i

| —T

83

s (c) Vatsayavan At Maharsm Pataman S
'8'4. Hmdu caves are buﬂt dunng lhe relgn of wh;ch dynasty '?

b “‘(C) Kunala Dynasty

(A) Ashoka Dynasty eipiae e (8B) Maurya Dynasty

§ LJQ), Rashtrakuta Dynasty

' Haw much percentage of _‘_e totai

nd:a occuples Red 80|t ’?

=;_CJ 39% (D) 40%

Leopard belongs to whtch famlly P,

(A) Lion {B) Tjger | (© Dog o 1 (D) _cat

Waterrnelon and C' rnber are 'f

"'ch types of agrjcultural;_m'ops in Indla ? A e
.'-LK__ rif Cmps : s

(C) Rabt Cm s

(A) Seas : {B) l_akes ¥ Ri_vers-' s ) Ponds . |
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| 89 : In whi countryth%Baux;tewas‘feun ﬁrst{ime m 1921 ? b !
X ><\@/I:la (B) Amenca tﬁ) China (IZQL,Emnee
.QO: .20 % rich people of the country share 40 % of Natlonal income and the Poorest 20 %
"x people share how much percentage of National | moome 7 dhes
| N\(A) 30 % o (B.__)___ 20% u/aa—% L(,D)"S %
91 'In-'whieh yedr the Wor_ld-'.".l_?rade;:ﬁ{;;anisahon was es ablrshed_? j .
{ _ (B) Imphal in Indla
(C) Geneva in Swnzerland (D) Amenca in Washlngten .
) hich yearA:r Poliutlon Act : a
'_ L/W/—) (B WHO (C) ECOSOC (D) UNICEF :
R Acoordmg to census oountlng of 2{}11 how many educated unemployed were in india ?
A) 54M“hon (B) 79 M"hon ._“-:_-_81 Million \/(’D')’Mlon
\T\nrzms there were how many employment exchange centers were in our country ? °
(A) 908 _ (B‘) (C). 1010 (D)-189
Accordmg to eari' hypoﬁ‘ueSls '~Vama Syﬁ" m ' was based on how many occupations ?
1wl e o o 2 |
In whlch artlcle of Indlan Constrtuhon Sched tnbes are tncluded‘? i
el ._:_f_fﬁ;. :'. q%i\rﬂde 341 (B( Artac 342 . (G}, Aticle - 29 (D) Article - 15 _
i 99 Accdrdmg to whlch Artlcle, untouchablllty |S'totaI[y eradicated and 1ts practlce in any form
Al prohlblted? ) | . _' 2
el o 1 : AmcletZQ(a) [C) Arucle 341 (D) ’.A_rt_i_'c-le-.zs
100 After whlch year fennnsm has mcreased m Kashmlr ’J_ : '_' _j _ <5 L
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